diff target thetaY¥ (nrad)

Maindet weighted avg, local errors - diff target theta¥Y

Mean = -1.3e-01 +- 8e-02 nrad Chi2/NDOF=9.7/3 Probability = 0.02
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Maindet weighted mean, self pull - diff target theta¥Y

Maindet weighted mean, self pul
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diff target thetaY¥ (nrad)
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Self weighted pull - diff target thetaY

Self weighted pull
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Mean —-0.3581+ 0.6136

Std Dev  1.227 + 0.4339

E Underflow 0
— Overflow 0
Cloodbe v Py v v e v s Ul Ly I B R | |

-2.5 1




diff target thetaY¥ (nrad)
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Maindet weighted pull - diff target theta¥Y

Maindet weighted pull
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Equally weighted pull - diff target thetaY

Equally weighted pull
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Mean  2.985e-07 +0.7708

Std Dev 1.542 + 0.545

; Underflow 0

: Overflow 0
:I 1 bl v b v v by by I i IR A
-2.5 -2 -1.5 -1 -0.5 0 0.5 1 15

Pull




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


